0000000000 (1E0O0DoOooO)

ggooobodg b moodg o

1 UNIXOOOO

1.1 0OO0O0oooboogoogo

(O] (e) (O] (h) (O] (b)

1.2 UNIXOOOOO

[0 1]
pwd
oo
print working directory
oo
[0 4]

cd hogehoge

oo
[cdDDDDDDDDDDD]

[0 7]

gcc -1m -o fuga hoge.c

1.3 000000000
[01] 2o

4 =02 -0 -0

o 3]

emacs hoge.c

[0 2]

[0 5]
cd

20060 60 160

oo
[Iist oo ]

go

cddO000D0O000O00OO0
obooooooooon

[0 2] o

(g o
ISHRG)) (0] (n)
[0 3]
cd ..

oo
change directory 0 O O
godo 200..000
goooooooooo

(O 6]

gcc -o fuga hoge.c

oooooO0OcOopoooooooooooooooo
00oooobooooooooon

[0 4]
./fuga



2 CcOObog

(O 1] (O 2]
/0 x/000000000004 int a, b, hoge;

oooooooooooooo
ooooooooo/ooogo
ooooooooooooon
gopooooogd

[0 3]

double u, v, fuga;

[0 6]

[0 4] [0 5]
ooooooobooooooo scanf ("%d",&foo) ;
gooan
3+8=11
(07 O 2C
(O0) 13 (0)5 (O) 36 (0)2
(O 8] [0 9]
oooU0oOoO0oo0ooOoOoOooooooocooon Akita
oboobooboooobooooooooooooboo National
gbbooboboogooooooobooobooabogod College
of
Technology

3 Uouoood
3.1 Ogog

O
#include <stdio.h>

int main(void)

{

printf ("0 00000 \n");

printf (" \n");
printf("O00\t 000 \n");
printf("O00NtO0 000000 \n");
printf("O00\t 00 O\n");

printf (" \n");

return O;

scanf ("%1f",&bar) ;



3.2 OOUgoooo

O

#include <stdio.h>
#include <math.h>

int main(void)
{
double deg, rad, x;

printf ("0 0 ?\t");
scanf ("%1£f",&deg) ;

rad=deg/180.0*M_PI;

x=sqrt(0.57%0.57+0.3%0.3-2.0%0.57*0.3*cos (rad) ) ;
printf("x00%f 000 \n",x);

return O;



